
 

 

Answer on Question #48346 – Math – Calculus: 

Give the equation of the line tangent to the curve f(x) = (x^(2) + 1)/(e^(2x)+sqrt(x)) at the point 

(1,f(1)). 

Solution. 

Tangent line 𝑙 to the curve 𝑓(𝑥) at the point (𝑥0, 𝑓(𝑥0) has the following representation: 

𝑙: 𝑦 = 𝑓′(𝑥0)(𝑥 − 𝑥0) + 𝑓(𝑥0); 

Hence,  𝑥0 = 1. So: 

𝑓(𝑥0) =
12 + 1

𝑒2⋅1 + √1
=

2

𝑒2 + 1
; 

𝑓′(𝑥0) =
(𝑥0

2 + 1)′(𝑒2𝑥0 + √𝑥0) − (𝑥0
2 + 1)(𝑒2𝑥0 + √𝑥0)

′

(𝑒2𝑥0 + √𝑥0)
2 = 

=

2𝑥0(𝑒2𝑥0 + √𝑥0) − (𝑥0
2 + 1) (2𝑒2𝑥0 +

1

2√𝑥0

)

(𝑒2𝑥0 + √𝑥0)
2 =

2(𝑒2 + 1) − 2 (2𝑒2 +
1
2)

(𝑒2 + 1)2
=

1 − 2𝑒2

(𝑒2 + 1)2
; 

𝑙: 𝑦 =
(1 − 2𝑒2)(𝑥 − 1)

(𝑒2 + 1)2
+

2

𝑒2 + 1 
. 
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